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Introduction



Unit 3: Thematic study and historical interpretation


Unit 3 in the OCR A-level specification involves the thematic study of topics over a period of at least 100 years, and three Depth Studies of events, individuals or issues that are key parts of the overall theme. You will be expected to view the theme synoptically. In other words you should be able to summarise developments by synthesising or making links between events over the whole period. You will also need to be able to discern patterns of change and continuity and similarity and difference over the whole period before arriving at judgements based on your observations. In the in-depth section you will be expected to apply your contextual knowledge to evaluate two interpretations and reach a supported judgement as to which one you consider to be the most valid.


Russia and its Rulers, 1855–1964: content


The following is a list of the main Key Topics you will study within the theme.





•  Key Topic 1 – The nature of government



•  Key Topic 2 – The impact of dictatorial regimes on the economy and society of the Russian Empire and the USSR



•  Key Topic 3 – The impact of war and revolution on the development of the Russian Empire and the USSR



•  Key Topic 4 – Russia: Empire, nationalities and satellite states.





The Depth Studies topics are:





•  Alexander II’s domestic reforms



•  The Provisional Government



•  Khrushchev in power, 1956–64.





Examination requirements


The examination paper will be divided into two sections, Section A and Section B. Section A will contain a question on interpretations and Section B will provide essay questions. The examination lasts two and a half hours, and you are advised to spend an hour on Section A and one and a half hours on Section B, which will give you 45 minutes for each essay.


The A-level examination at the end of the course can cover any of the Key Topic and Depth Study content. You are required to answer ONE Depth Study question, for which there is NO choice, and TWO Key Topic essays from a choice of THREE. Unit 3 is worth a total of 80 marks and 40 per cent of the final A-level marks.


In the A-level examination you are being tested on your ability to:





•  use relevant historical information to support arguments



•  handle historical concepts, especially change/continuity and similarity/difference



•  write synoptically using synthesis



•  analyse and evaluate a range of factors before reaching a balanced judgement



•  analyse and evaluate interpretations made by historians.





How to use this book


There are two strands to the book, which have been designed to help you develop the knowledge and skills necessary to succeed in the examination.





•  The main part of the book is divided into seven sections – each of the first four sections covers a Key Topic and the last three sections deal with the three Depth Studies.



•  The Key Topic and Depth Study sections are organised into double-page spreads.



•  On the left-hand page you will find a summary of the key content you will need to learn.



•  On the right-hand page you will find exam-focused activities.





Note that words in bold in the key content are defined in the glossary (see page 106)
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Examination activities


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers that can be found online at www.hoddereducation.co.uk/myrevisionnotes. These have the following symbol to indicate this: [image: ]


Each section ends with exam-style questions and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.






Mark schemes



For some of the activities in the book it will be useful to refer to the mark scheme for this paper. Below is an abbreviated form.


A-level






	
Level 

	Historical Interpretation

	Thematic Essay






	6

	Well-focused answer, aware of the wider debate with detailed knowledge used to evaluate the interpretations and reach a judgement.

[26–30]



	Very good focus and clear argument with developed synthesis across the period to reach a substantiated judgement.

[21–25]








	5

	Good focus, with some awareness of the wider debate and uses good knowledge to evaluate the interpretations and reach a judgement.

[21–25]



	Good focus and argument with some synthesis across the period to reach a developed judgement.

[17–20]








	4

	Mostly focused with awareness of the wider debate and uses some knowledge to evaluate the interpretations and produce a judgement.

[16–20]



	Mostly focused argument with limited synthesis across the period to reach a limited judgement.

[13–16]








	3

	Partially focused with limited awareness of the wider debate and limited knowledge used to evaluate the interpretations.

[11–15]



	Partial focus and argument with undeveloped synthesis across the period to reach a judgement which is poorly supported.

[9–12]








	2

	Limited focus and awareness of the wider debate and uses limited knowledge to evaluate but relies on information from the passages.

[6–10]



	Limited focus and argument with a judgement which is not well linked to the explanation.

[5–8]








	1

	The answer is focused more on the topic than the question and there is description of the interpretations.

[1–5]



	Limited focus on the topic and is mostly descriptive with a judgement that is asserted.

[1–4]












1 The nature of government



Autocracy


Russia was governed by an autocracy from 1855 to March 1917. Some historians have argued that there were three aspects to Russian autocracy:





•  Tsars believed they were accountable only to God and not to the people. Hence, there was no need for democratic elections.



•  Tsars also believed that God had placed them on Earth to set moral standards. They had a paternalistic duty to ensure that ‘the people’ were protected from the more evil elements in society.



•  As the Russian Empire was so large and diversified, autocracy was seen as a practical, straightforward way to rule. Advisers to the government such as Konstantin Pobedonostsev argued that liberal democracy would have led to too many people demanding too many things. Also, as most of the Russian population was made up of illiterate peasants, it was believed that democracy would be in the hands of those who did not have ‘the ability to reason’.





Autocracy, repression and reform


The tsars used their autocratic power differently according to circumstance. However, they all reinforced autocracy through a mixture of repression and reform.





•  Nicholas I (Tsar 1825–55) had promoted autocratic rule through the use of slogans such as ‘Orthodoxy, Autocracy and Nationality’. ‘Orthodoxy’ indicated an intention not to make radical changes, ‘autocracy’ suggested that there would be complete obedience to the Tsar and ‘nationality’ emphasised the need to create a united Russia based on the traditions and values of the original Rus peoples. It was reinforced with the passing of the Fundamental Laws of 1832 which stated that ‘The emperor of all the Russians is an autocratic and unlimited monarch’.



•  Alexander II (Tsar 1855–81) stuck closely to autocratic principles, especially after the first attempt to assassinate him in 1866. Although Alexander II was a willing reformer, his policies were still carried out with the need to preserve autocracy in mind. For example, he maintained respect for his authority by compensating serf owners after the 1861 Emancipation Edict (see page 20) was put into operation.



•  Alexander III (Tsar 1881–94) reigned with what is often viewed as more intense authoritarian rule. It is often referred to as ‘the Reaction’ – a response against the more reforming period of his father’s rule. Alexander strongly believed that the Slav peoples lacked the intelligence to participate responsibly in a democratic political system. Besides, they were viewed as displaying ‘inertness and laziness’ and were therefore undeserving of greater freedoms. Nevertheless, like his father, he was willing to reform if it benefited Russia as a whole.



•  Nicholas II (Tsar 1894–1917) continued the rather severe form of autocratic rule adopted by his father. The October Manifesto of 1905 and the setting up of the Duma (see page 14) appeared to be a move towards democracy. The impact of these reforms, though, was cushioned by the passing of the autocratic Fundamental Laws of 1906.
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[image: ] Spot the mistake      [image: ]


Below is a sample exam question and a paragraph written in answer to it. Why does this paragraph not get into at least Level 5? Once you have identified the mistake, rewrite the paragraph so that it displays the qualities of at least Level 5. The mark scheme on page 7 will help you.




To what extent was autocracy the main feature of Russian government from 1855 to 1964?
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All of the tsars ruled Russia autocratically. They believed they were ordained by God to rule. Advisers to the tsars, such as Pobedonostsev, argued that there should never be a move towards democracy as the people were not clever enough to know how to vote properly. However, not all of the tsars were totally autocratic. Both Alexander II and Nicholas II were interested in changing the government to make it more liberal.
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[image: ] Support or challenge?


Below is a sample exam question which asks how far you agree with a specific statement. Below this is a series of general statements that are relevant to the question. Using your own knowledge and the information on the opposite page, decide whether these statements challenge or support the statement in the question and tick the appropriate box. Note that as students are required to cover a 100-year period in answers to examination questions the statements relate to Russian government across the whole of the period from 1855 to 1964. But the text on page 8 only relates to the tsars; you will need to refer to later sections in the book on Lenin, Stalin and Khrushchev to successfully complete this task.




‘Russian rulers were consistently autocratic in the way they ruled from 1855 to 1964.’ How far do you agree with this statement?









	 

	
SUPPORT 

	
CHALLENGE 






	As the Russian Empire was so large and diversified, autocracy was seen as a practical, straightforward way to rule.

	 

	 






	The October Manifesto of 1905 and the setting up of the Duma appeared to be a move towards democracy.

	 

	 






	Alexander II maintained respect for his authority by compensating serf owners after the 1861 Emancipation Edict was put into operation.

	 

	 






	Alexander III’s reign is often referred to as ‘the Reaction’.

	 

	 






	The impact of reforms made by Nicholas II was cushioned by the passing of the Fundamental Laws of 1906.

	 

	 






	As most of the Russian population was made up of illiterate peasants, it was believed that democracy would be in the hands of those who did not have ‘the ability to reason’.

	 

	 






	Tsars believed they were accountable only to God and not to the people.

	 

	 






	Lenin used War Communism to win the Civil War.

	 

	 






	Stalin used purges, show trials and terror to implement his policies.

	 

	 






	Khrushchev de-Stalinised Russia.
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Dictatorship



Russia was governed by a form of dictatorship after the October Revolution of 1917. The leader of the dictatorship, Lenin, based his ideology of government on the work of Karl Marx (1818–83) and Friedrich Engels (1820–95). The ideology, Marxism–Leninism, centred on two key principles:





•  The ‘superstructure’ of institutions that formed the base for the old tsarist society had to be destroyed and replaced with bodies that would create an egalitarian society.



•  Marx’s ‘Labour Theory of Value’ became a justification for Lenin to overthrow tsarist rule, especially as the tsars had started to move towards capitalism.





The ‘Labour Theory of Value’


This theory claimed that under a capitalist economy the proletariat would never gain the full value of their efforts. A disproportionate amount of wages would be taken away to provide capitalists with profits far in excess of what was needed to maintain industrialisation. In other words, the proletariat would be exploited by capitalists.


Marx outlined how a struggle between the capitalists and workers would result from exploitation – the prediction was that a government consisting only of workers would be formed. More specifically:





•  Workers would eventually be successful in overthrowing the capitalists.



•  In the short term, intellectuals such as Lenin would be needed to help the workers govern.



•  Once the proletariat became more politically educated then a dictatorship of the proletariat would occur (that is, rule over the bourgeoisie by the workers).





Implementation of Marxism–Leninism


Lenin implemented his ideology by:





•  passing on his views through his writings. Most important was the publication of What is to be Done? (1902), in which Lenin argued the need for revolutionaries to bypass the implementation of a democratically elected assembly and go straight to a government led by a Party Central Committee. Lenin believed this was necessary as in a system where workers might be given the vote they would not have the political knowledge and experience to use it in a way that would result in revolutionary change to their position in society. Therefore a Bolshevik cadre (or Committee), versed in Marxism, needed to be appointed to make decisions on behalf of workers. The Committee would govern until the workers were ready to take over.



•  leading a Bolshevik revolution against the Provisional Government in October 1917.



•  engaging in a civil war, from 1917 to 1921, against the opponents of the revolution (the Whites).



•  using War Communism to ensure that there was no drift from his close followers or those he perceived should have supported Marxism–Leninism – proletarians and peasants. War Communism was implemented with a degree of ruthlessness similar to that used by Alexander III when he attempted Russification (see page 64). Both Alexander III and Lenin used the secret police (the Okhrana and the Cheka respectively) to enforce their policies brutally.



•  making concessions in the form of the New Economic Policy (NEP) after the Civil War seemed to be won. This was done to ensure the backing of moderate Bolsheviks but it caused something of a split in the party. Trotsky believed the Bolsheviks should have quickly moved away from appeasing bourgeois elements through the NEP. He wanted a more ‘permanent revolution’, which meant the spreading of communism throughout the world. Others, such as Bukharin, disagreed and believed that the NEP was probably a necessary temporary measure to enable the consolidation of ‘socialism in one country’.
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[image: ] Delete as applicable      [image: ]


Below is a sample exam question and a paragraph of an answer to it. Read the paragraph and decide which of the possible options (in bold) is most appropriate. Delete the least appropriate options and complete the paragraph by justifying your selection.




To what extent did the communist dictators govern in the same way as the tsars from 1855 to 1964?







[image: ]


Lenin’s rule was similar to that of all the tsars to a limited/fair/great extent in that he was solely in charge. He also used repressive measures, like the tsars, such as War Communism. War Communism was implemented with a reasonable/considerable degree of ruthlessness very similar to that used by Alexander III when he attempted Russification. Also, Lenin was similar to all/some of the tsars in the way in which he used reforms to appease the people. Thus Alexander II emancipated the serfs to give them greater economic freedoms and Lenin introduced the NEP, which provided opportunities for peasants to trade freely and set up their own businesses. Thus, Lenin, in comparison to the tsars, partly continued/continued the way Russia was ruled as he…


___________________________


___________________________
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[image: ] Identify an argument      [image: ]


Below are a series of definitions, a sample exam question and two sample conclusions. One of the conclusions achieves a high-level mark because it contains an argument. The other achieves a lower level because it contains only description and assertion. Identify which is which. The mark scheme on page 7 will help you.





•  Description: a detailed account



•  Assertion: a statement of fact or an opinion, which is not supported by a reason



•  Reason: a statement that explains or justifies something



•  Argument: an assertion justified with a reason







‘Lenin’s seizure of power in 1917 was the most important turning point in the development of Russian government from 1855 to 1964.’ How far do you agree with this statement?







[image: ]


Lenin’s seizure of power in October 1917 was undoubtedly a major turning point as it marked the end of an attempt to introduce the Constituent Assembly. It also represented the beginning of a move, in theory, towards rule by the proletariat (‘the dictatorship of the proletariat’) and a more egalitarian society in general. However, without the problems caused by the First World War and subsequent February Revolution of 1917 there would have been no Provisional Government and no attempt to install a Constituent Assembly in the first place. Lenin was able to exploit the problems of the Provisional Government to gain power. Therefore it was Russia’s involvement in the First World War that was the most important turning point in Russian government from 1855 to 1964.
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After Lenin seized power in October 1917 he went on to introduce communism to Russia and created a dictatorship. This was very different from the tsars. He consolidated his power by winning the Civil War of 1917–21 and through the introduction of War Communism. He was also important for developing his New Economic Policy, which improved the lives of Russians. Some historians disagree, though, that Lenin’s seizure of power was the most important turning point because he carried on using repressive policies like the tsars. In other words, he was just a ‘Red Tsar’.


[image: ]





[image: ]






Totalitarianism



After Lenin’s death in 1924 a power struggle ensued. Stalin skilfully manipulated various individuals and factions to gain support for his takeover of the leadership of the Soviet Union. From 1928 onwards Stalin redefined Marxism–Leninism and moved Russia towards a totalitarian state. There were two main strands to Stalin’s ideology:





•  The implementation of a command economy, based on centralised planning and collectivisation so that the superstructure of society could be changed.



•  The personalisation of the superstructure so that total control of the economy, society and politics was in the hands of one person – Stalin. This was to be achieved through the artful use of propaganda (including the development of the cult of personality), increased censorship and repression of opposition on a scale never witnessed before.





Stalin and totalitarianism


There are a number of possible explanations as to why Stalin moved Russia away from a Lenin-style dictatorship to totalitarianism.





•  He exploited circumstances to implement a practical solution to Russia’s problems. For his Five-Year Plans and collectivisation to be successful, no one could be allowed to question whether the policies were appropriate.



•  Another view is that Stalin was a megalomaniac. He did whatever was needed to gain and maintain power to fuel his desire to appear important.



•  A more recent idea is that Stalin intentionally built upon a base laid by Lenin – totalitarianism was what Stalin believed Lenin would have moved to if he had not died. The establishment of the Party Central Committee and the use of the Cheka indicated that Lenin had every intention of centralising control of all aspects of Russian life.





De-Stalinisation


Another power struggle occurred after Stalin’s death in 1953. What emerged was a government of collective leadership but one influenced mainly by Khrushchev, the Secretary of the Party Central Committee. By 1956 Khrushchev had formulated a plan to move the Soviet Union away from Stalinism. In a speech made in 1956 to the Twentieth Party Congress, Khrushchev denounced Stalin on the grounds that:





•  It was not Lenin’s wish that Stalin should become leader.



•  Stalin had not prepared the Soviet Union adequately for the Second World War.



•  Stalin had committed crimes against the Russian people.



•  Possible ‘outsider’ allies, for example Hungary, had been alienated by Stalin.





Khrushchev and his supporters then proceeded with the de-Stalinisation of Russia by:





•  releasing political prisoners from Gulags




•  relaxing censorship



•  attempting to remove the cult of personality.





However, this did not signal a move away from authoritarian rule. Khrushchev, like previous Russian leaders, continued to use physical force to repress opposition, as was shown by his order to send tanks to Hungary in 1956 to deal with the Nagy regime.
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[image: ] Develop the detail


Below is a sample exam question and a paragraph of an answer to it. The paragraph contains a limited amount of detail. Annotate the paragraph to add additional detail to the answer.




‘The introduction of totalitarian rule by Stalin was the only backward step in the development of Russian government from 1855 to 1964.’ How far do you agree?







[image: ]


In some ways totalitarian rule was the only backward step. Total control of people’s lives was in the hands of one person without any hint of a move towards the representation of the people as had been started by the tsars. Stalin achieved this through repressive measures on a scale not witnessed before. Compared with the tsars, he made much more effective use of propaganda, censorship and the secret police to impose his will. In particular he used these tools of government to implement a range of industrial and agricultural policies designed to enable Russia to compete with the West. The fact that Khrushchev attempted to reverse much of what Stalin had done is evidence that Stalin’s period of totalitarian rule was a major backward step. However, in some ways it was not totally backward as Stalin was building on what had already been started by Lenin.
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[image: ] Turning assertion into argument


Below are a sample exam question and a series of assertions. Read the question and then add a justification to each of the assertions to turn it into an argument.




‘The introduction of totalitarian rule by Stalin was the most damaging ideology introduced by any Russian ruler from 1855 to 1964.’ How far do you agree?







[image: ]


The introduction of totalitarian rule by Stalin was mainly damaging for Russia in the sense that


___________________________


___________________________


[image: ]
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De-Stalinisation was evidence that Stalin’s totalitarianism was considered to have hampered progress in Russia. It showed that Stalin had


___________________________


___________________________


[image: ]
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However, Stalin’s totalitarian approach was not totally damaging as it


___________________________


___________________________


[image: ]
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Developments in central administration



All Russian leaders during the period from 1855 to 1964 used a centralised form of administration and government. However, the degree of centralisation and the structure of government differed from one ruler to another.


Continuity in central administration


All of the administrations under Russian leaders were hierarchical in nature. At the top was the tsar or, under the communists, the Politburo. The various organs of government were always accountable to leaders and not the people. Democracy was debated and experimented with but never fully implemented. The nearest Russia came to achieving democracy fully was through the Provisional Government’s efforts in the setting up of the Constituent Assembly.


Under all regimes there were numerous organs of government performing specific roles. The tsars used:





•  a Council of Ministers, which was the main law-making and administrative body and acted as the main link between other organs of government and the tsar



•  the Imperial Council of State, which advised the tsar on legal and financial matters



•  a Committee of Ministers, although its responsibilities were divided up in 1906 (see below)



•  the Senate, which was the Supreme Court, with its main duty being to act as the final court of appeal on major legal matters.





The communists mainly used:





•  the All-Russian Congress of Soviets and the Central Executive Committee (CEC). This was broadly similar to the Council of Ministers used under the tsars. The CEC was, in turn, divided into three political offices: the Politburo, the Orgburo and the Ogburo.



•  the Council of People’s Commissars (Sovnarkom). Commissars were government ministers who were given specific roles to play; for example, Stalin initially had the job of controlling national minorities. In theory, Sovnarkom was answerable only to the CEC.





Change in central administration


Nicholas II responded to the so-called 1905 Revolution by publishing his October Manifesto. The manifesto led to the abandonment of a Committee of Ministers, with its duties being divided up between:





•  the State Council (previously the Imperial Council of State), which was to act as a check on the activity of the Duma




•  the Duma (the elected lower chamber), which was meant to be an assembly of people elected from a range of different social groups.





Nicholas was wary that the Duma would not always support his policies so he managed to restrict their power by the passing of the Fundamental Laws of 1906. The laws reinforced the notion that the Duma would always be accountable to the tsar. Hence, what appeared on paper to be a major concession to democracy was in reality ‘supreme autocratic power’ in disguise.


Stalin also implemented a change which appeared to give Russian people throughout the country greater representation. Through his 1936 Constitution, new representative organs were introduced:





•  the Supreme Soviet of the Union of Soviet Socialist Republics (USSR) – the main law-making body



•  the Soviet of the Union – which contained representatives of the whole of the USSR



•  the Soviet of Nationalities – which represented particular regional groups.





None of this altered the fact that the Communist Party remained, as stated in Article 126 of Stalin’s Constitution, ‘the nucleus of all the public and state organisations of the working people’. Hence the Supreme Soviet was essentially a puppet of the Communist Party.
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[image: ] Eliminate irrelevance      [image: ]


Below is a sample exam question and a paragraph written in answer to this question. Read the paragraph and identify parts of the paragraph that are not directly relevant to the question. Draw a line through the information that is irrelevant and justify your deletions in the margin.




‘Nicholas II’s political reforms led to the most important changes in the way Russia was governed from 1855 to 1964.’ How far do you agree?
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Nicholas II issued his October Manifesto in 1905. The Manifesto outlined his plans for political reform which, most importantly, involved the setting up of an elected Duma (a type of parliament). Nicholas also appointed Stolypin as Prime Minister and gave him the brief to change policy on land distribution. The Duma met on four occasions before 1914 and was successful in instigating political, economic and social change. However, its powers were severely restricted by the Fundamental Laws of 1906. These laws gave the tsar the authority to close down the Duma on a whim, which he did when the first and third Dumas appeared too subversive. Thus, when compared with the more permanent political reform of the disbandment of the Constituent Assembly by the Bolsheviks and the introduction of a dictatorship, the creation of the Duma cannot be seen as the most important change in the way Russia was governed. Besides, in 1915 Nicholas II allowed a ‘progressive bloc’ to develop within the Duma which demanded that a national government be formed to take charge of the war effort.
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[image: ] Spectrum of importance


Below are a sample exam question and a list of general points which could be used to answer part of the question (the part that would need discussion of how far the administration and structure of Russian central government changed). Use your own knowledge and the information on the opposite page to reach a judgement about the importance of these general points to the question posed.


Write the numbers on the spectrum below to indicate their relative importance. Having done this, write a brief justification of your placement, explaining why some of these factors are more important than others.




‘The most important changes in the way Russia was governed from 1855 to 1964 occurred during the rule of Stalin.’ How far do you agree?








1  The setting up of Sovnarkom



2  The passing of the Fundamental Laws of 1906



3  The issuing of the Constitution of 1936



4  The use of the Council of Ministers under the tsars



5  The setting up of the Duma




6  The planning and establishment of the Constituent Assembly.
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Changes in local government



Before 1861, provinces were largely under the jurisdiction of noble landowners, and village issues were discussed by the mir. The local nobility acted as a bridge between central government and the outreaches of the Empire. This changed with the emancipation of the serfs. The nobility ceased to play a political role, and the management of local affairs was left in the hands of local police constables appointed by the Interior Ministry. In 1864 Alexander II also introduced the Zemstvo (plural Zemstva) or regional council. This was characterised by:
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